TECO

IE4 BB RAER

{EC B2 = 1 5K & 55 2

o

AEHF4E %35l
AEUF4E %3l

Energy Conservation / Emissions Reduction / Intelligence / Automation

% R — .




SO

B



01-02
03

04-07
08-11

FE nn 5 Rh B AR AR

AEHF4E %5l
AEUF4E %35l



| EESENHMEER

2023 £ 7 Bt - MARAAEF LB (AL HERFIFNT IE4 BEREFRRME - B 2019
F10 B 25 HAM 7 ARSEENZEZIRAI (EC) 640 FIEET4R /2009 - ZEE %I (EV)
2019/1781 HHEE 8 WMHEANBREZAIFHFE (0.12 kW - 1000 kW ) B ¢V HIEEK - W EEER
CoERIBL IE2 ERRINESRRR BN B3 BUZSK - IESh - BKFE B2 MEIR=RERAEREE 0.12
kKW A 1000 kW ZfE - B 2023 Fi#E - 75 kW £ 200 kW 7 E#HER BN HEERFEEE IE4

Ny

BERNEEAR -

- 01/07/2021:0.75 kW ~ 1000 kW RIFF B BiEER S IE3 A
- 01/07/2021:0.12 kW ~ 0.75 kW HIPR B &% 8
- 01/07/2023:2 ~ 4 ~ 6 #&x 75 kW £ 200 kW HIPFBEHER S IE4 IE3

R FRIRY - KRB 2022 £ 9 B A 4
ENEEBIIE S - i3 ED 6 AKES - 45 IRENREIEHE -
HMETR BE - T BB RifsEEsS K 2

Bl HPRITEHE—AEMEHREERK
B EETURE - FREIREEIEEEL IE3
’ITZE IE4 - BDHFEREAIE -

| AEHF4E %35145%

. BERUER

>
0.12 0.75 75 200 375 1000

Pn[kW]
BR3E 2023 £ 7 A 1 BEEMBENERAE

FEERETZEEMRE IEC60034-30-1:2014 FHE Y IE4 BEMER - EEE - KRR

DENHALL, -
- ERBRERS

BUE - BKRD - oIRABRNNNE - BIREBEBERNTED VS - REKIREEFUE

B EAERERNIHERE -
o BAK - BIEERRE

REEZARIE IPS5 - BEEHEUEBHEAENIREE -

- HGERE
i Ihar - BEIMA -
- HiiEE

ZxMHBERE -

ZERTHEEEGE - HAERA IEL - IE2 - [E3 BiE<E o/ 5# -

| EREE

Z R
AozzeBANSERIEEEHEEZEM -



RERE

EE —HEEAREEE
AT R IEC 60034
220V, 380V
RS 60HZ
1-125HP

3600 - 1800 RPM. (2 - 4 1 )
EERATE (S1); 60Hz B S.F. 1.15
80 - 250MC

EEEAA (IP55)
EEFAEE®IINE LA (IC411)

—REA - FERIRE

-15to 40°C

E//

B 1000 AR

BB - 8 218 30HP( = ) UL - ERE RS

ST
il

LuEn

HES% 250 B - EEFAMNEURIREREMA - HEMESR AR MR -
ERETEATURIREA -

BESMREAES EEEREO S - WHEIF 90°TeBELE
RS RZUREREZA - BERAWEER -

i
5
i

FhsmERiE - IRIRAKME - ERERBEIKE Munsell 7.5B 3.5/0.5

R E R 1% |EEE-112 75X B E A2 BERIEN A

EfHEERR EBPE)A S.F. 1.0 i - 1E5% 180M LA 80°CLAF ; 4E5% 180L LA L 105°CLAF
120% BREHEIRFHE 2 NiE

BEERME 160% BREEAERE 15




5 MR AEHF4E / AEUF4E IE4 (S.F. 1.15, 220V, 380V, 60Hz)

50% MELE TR (A) RaEh

. 1 100% | 75% | 50%
BH BH BH

==
&

T
[£5e)

100%
am | am | an o | e
3470 80 825 835 8l5 825 750 625 289 167 25 0211
PO a5 80 sss 850 830 710 615 480 324 188 29 0419
3500 90L 865 870 865 845 780 665 539 312 54 0417
© Y e an ms om0 @ TS R WE 57 B 51 G@s
3510 90L 885 885 870 835 765 645 7.81 452 80  0.610
P27 65 100L 910 905 890 790 735 620 803 465 76 1214
3525 112M 89.5 900 89.5 900 865 785 121 698 138 1.022
© Y mn a e ORGS0 GRG TEE 593 B9 Te TE AGE
3540 1325 90.2 915 90.5 855 825 740 187 108 154 1513
e 1770 1325 924 920 910 800 730 605 195 113 193 3.027
3525 1325 917 915 910 860 825 740 250 144 198 2072
YO s s S S 95 TS G SRS B SRR 40w
3540 160M 924 920 915 90.5 89.0 840 345 200 286 3.027
Bt 0 1eom 936 930 925 825 770 665 374 216 330 6053
3550 160M 924 930 920 900 875 8L0 473 274 440 4115
T o fmL e GRS R0 A0 S GRS DS 90w o
3545 160L 930 932 925 900 875 8L0 580 336 550 5.083
2 IS s 1soM 945 045 940 855 820 735 601 348 495 1015
3555 180M 930 935 925 90.0 885 8L5 690 399 655 6.028
% o eny 05 ma3 BB R0 7O OB TEG G B s
3550 180L 93.6 938 935 920 905 860 914 529 836 8231
s 180l 950 945 40 840 805 725 987 571 770 1646
3565 200L 941 940 93.5 90.5 89.0 840 114 660 957 1011
POV ., 56 59 05 680 G0 TR0 WG BB 5 SO0E
3560 200L 945 942 935 90.5 900 860 138 799 1188 1231
0 B 80 200L 954 952 o045 845 8LS 735 146 848 1095 2462
3570 2255 945 950 945 910 905 870 168 972 1309 1501
P s wE e 55 s G5 005 TS T S
3570 250S 950 945 940 885 870 820 234 136 1700 20.46
00 75 a5 2505 962 950 940 865 835 760 237 137 1940 4092
3575 250M 954 948 935 890 870 820 278 161 2800 24.52
T s smmn e 56 B9 G0 G0 TR0 P 16 sem 46
NOTE
1. SR E R 1EC60034-2-1 - 4 BESLE W DAY - W2 WETE ; BRERSELRD -
2 EANEREDWER T - 5. LR REEESER -
3 AZf# IEC60034-1 - 6 LRMELARE - OARFE -

335

420

310

295

310

260

305

235

235

355

285

325

240

285

295

300

305

275

285

245

280

250

170

220

175

220

165

290

135

170

155

230

300

360

300

250

300

220

240

175

175

255

235

240

190

215

235

270

240

225

220

190

215

190

155

195

160

185

160

255

125

165

140

215

380

430

385

395

450

335

420

315

305

395

330

375

285

330

350

325

345

300

370

275

305

270

310

270

300

275

290

270

295

300

330

365

#r

BE

(kg-m?)

0.006

0.013

0.012

0.023

0.014

0.054

0.046

0.083

0.075

0.143

0.075

0.173

0.183

0.367

0.205

0.460

0.237

0.707

0.330

0.812

0.434

1.005

1.131

1.896

1.300

2.061

1.547

3.911

1.847

5.752

2.287

6.111



RS & AEHF4E

BAZtHIZe 2 (B3; IM1001)
1E%% 80 ~ 132M

L ""mm"‘j AC L IAC
=] T b o : i
S -t ==l . (7
i N S I - T - i i— == I /
. = EF :
+ = @ | - ? é
! I 1‘ KK HOLE/ f |7=E i :
LE || B 1lel e . j_ . j_c E 4—piK HOLE]| AE LAA|
BB 4,_¢K HOLES AB BB 4—¢K HOLES AB
F F
S ﬁ[‘] v
o 15 /-é o é?jé
DH TAP $D DH TAP @D
Fig .1 Fig .2
[ B : mm]
EEJH:',(HP)
- g | @5 AA | AB AE BB | C HA 3
1 32 155 175 144 112 100 130 50 80 65 168 - 55
FIG. 1
§ 2 o0L 140 30 170 199 157 125 125 150 56 90 75 190 - 65
-3 100U 160 35 195 219 180 145 140 175 63 100 80 - 240 71
5 5  112M 190 40 224 236 189 154 140 175 70 112 90 - 262 83
FIG. 2
71'3 75 1328 216 42 250 273 225 180 140 175 89 132 110 - 308 83
- 10 132M 216 42 250 273 225 180 178 212 89 132 110 - 308 83

HESIR

MR
K | Kk | L | LE

HEORDECEECNEL

80 $10 7~12 2820 920 155 215 M6x12 62047z 620477
90L $1l0 7~12 3325 1015 24 50 32 8 200 27.0 M8x1l6  6205ZZ 620577
100L  yl2 7~12 3745 1115 28 60 40 8 240 31.0 M10x20 6206ZZ 620577
112M  yl12 7~12 3910 1210 28 60 40 8 240 31.0 M10x20 6306ZZ 620677
132S 12 18~25 4540 1450 38 80 64 10 330 410 M12x24 6308ZZ 6306727
132M @12 18~25 492.0 1450 38 80 64 10 33.0 410 Mi12x24 6308ZZ 630677

NOTE

1. B D A% : 19~28 : j6, @38 : k6

2. B HAE O -0.5



RS ® AEHFA4E

EAZtHIZe 2 (B3; IM1001)
1255 160M ~ 180L

L AD
L AD
ED f
= | ac
|
— P
J |TECO | — 2
() .
L ] \? y
— ;:T 1 - e 1 '
—r——\l———= , E ‘ =
| | ™M 1 L _ !_ /) J‘AA
LE | B [|c & ' 7L LE | B Lle e A
== =t= i " BB AB
BB $KK HOLE AB $KK HOLE

4—gK_ HOLES 4 ¢K HOLES

S

[5]5]
DH TAD ) DH TAP
Fig. 3 Fig. 4 [ &7 : mm]
& (HP)
HESR C H | HA | HD | HE

2P | 4P

15 15 160M 254 50 300 334 263 218 210 250 108 160 18

20 FIG. 3

25 20 160L 254 50 300 334 263 218 254 300 108 160 18 377 108
30 - 180MA FIG. 4 279 75 355 382 305 250 241 335 121 180 22 431 119

- :(5) 180MC FIG. 3 279 75 355 382 305 250 241 335 121 180 22 431 119
40 - 180LA FIG. 4 279 75 355 382 305 250 279 389 121 180 22 431 119

- 40 180LC FIG. 3 279 75 355 382 305 250 279 389 121 180 22 431 119

“Lo e Tol Te Tl o ] aan [onnn
160M y14.5 18~25 608.0 180.0 37.0 45.0 M16x32 630922 630722

160L {14.5 18~25 652.0 180.0 0.0 42 110 80 12 37.0 45.0 M16x32 630922 630722

180MA  14.5 31~41 710.0 238.0 19.0 48 110 80 14 425 515 M16x32 631172Z2C3 6310ZzC3

180MC ¢14.5 31~41 710.0 238.0 19.0 48 110 80 14 425 515 M16x32 6311722 63102z

180LA Y14.5 31~41 764.0 254.0 27.0 55 110 80 16 49.0 59.0 M20x40 631272C3 631022C3

180LC {14.5 31~41 764.0 254.0 27.0 55 110 80 16 49.0 59.0 M20x40 631222 631022
NOTE
1. #IR1E D AZE : @42~48 : k6, 55 : mb

2.90& H

NE: +0,-0.5



RS & AEHFA4E

BAZtHIZe 2 (B3; IM1001)

HESE 200L ~ 225S
L [[reco) =

| N
= Tl
R | — i WAE
! iM 1 L
LE ’L B rLc e ! A

KK HOLE

4—¢K HOLES ﬁih

G
G

pH TAP f. 2D

Fig .3 [EEf7 : mm]
) (HP)
i ki
2P | 4P
60 200LA 400 458 362 299 305 400 133 200 25 499 129
- :g 200.,C .3 318 80 400 458 362 299 305 400 133 200 25 499 129
75 - 2255A 356 100 450 510 411 337 286 415 149 225 30 550 153
- 75  225SC 356 100 450 510 411 337 286 415 149 225 30 550 153

u %

t 10 Lo T Tol e Tl o | amn [onen
200LA {18.5 44~51 809.5 261.5 17.5 49.0 59.0 M20x40 63127zZC3 62127ZC3

200LC {18.5 44~51 839.5 261.5 17.5 60 140 110 18 53.0 64.0 M20x40 63142z 621227

2255A 185 44~51 850.0 305.0 32.0 55 110 80 16 49.0 59.0 M20x40  6312ZZC3 621272C3
2255C  {18.5 44~51 880.0 305.0 32.0 65 140 110 18 58.0 69.0 M20x40 63152z 62132z

NOTE
1. #iR#E D A% : @55~65: m6
2. EP/b\m HZAZ=: +0,-0.5



RS ® AEHF4E

BAZCIIZ2 58 (B3; IM1001)
1E%% 250S~250M

[ B4 : mm]

#d (HP)

100 - 250SA 406 110 500 545 499 384 311 425 168 250 32 612 139
- 100  250SC - 406 110 500 545 499 384 311 425 168 250 32 612 139

125 - 250MA 406 110 500 545 499 384 349 480 168 250 32 612 139
- 125  250MC 406 110 500 545 499 384 349 480 168 250 32 612 139

[Tl o] o | aen [onen
2505A 6677 8905 3015 19.0 490 59.0 M20x40  6313C3  6313C3
2505C 24 6677 9205 3015 19.0 75 140 110 20 67.5 795 M20x40 ;3211% 6313
250MA (24 6677 947.5 3205 28.5 55 110 80 16 490 59.0 M20x40 620622 63133
250MC (24 66777 9775 3205 28.5 75 140 110 20 675 795 M20x40 ;3311% 6313
NOTE

1. #iR#E D A% : @55~75: m6
2.0hEHAZE  +0,-05
3. BAES SR TS BN IS E AR



RS & AEUF4E

U DIABZE
tE5% 80 ~ 132M

- BlE S (V1 IM 3011)

|
LB

I -

LD

===

4—¢ 8 HOLES

Fig .1 Fig. 2 [ I : mm]

i (HP)
ESE | Bk

2P
1 1 80 FIG. 1 200 12.0 177 144 112 - 7712 282.0 242.0 60
; 2 90L FIG. 2 12 165 130 200 12.0 3.5 200 157 125 - 7712 3715 3215 113
. 3 100L  FIG.1 16 215 180 250 14.5 4.0 219 180 145 140 7~12 374.5 3145 88
5 5 112mM FIG. 2 16 215 180 250 145 4.0 238 189 154 150 7~12 431.0 371.0 135
ig 7.5 1328 . 20 265 230 300 145 4.0 273 224 180 169 18“25 454.0 374.0 97
. 10 132m 20 265 230 300 145 4.0 273 224 180 169 1825 492.0 412.0 116

n

o [ Tol [ Tol o e Lonen
80 15,5 215 M6x12 620422 620422
90L 24 50 32 8 20.0 27.0 M8x16 620522 620522
100L 28 60 40 8 240 31.0 M10x20 620622 620522
112M 28 60 40 8 240 31.0 M10x20 630622 620622
1325 38 80 64 10 33.0 41.0 Mi2x24 630822 630622
132M 38 80 64 10 33.0 41.0 Mi2x24 63082z 630622

NOTE

: @19~28 : j6, ©38 : kb



RS ® AEUF4E

U DIABZE - #Eh (V1 IM 3011)
tE5% 160M ~ 180L

[FXe}

:mm]

it (HP) HiERRR

1-
HESR &5 AC
2P LA S T
;(5) 15 160M 20 300 250 350 18.5 5 334 263 218 217 18~25 608 498 151.0
FIG. 3
25 20 160L 20 300 250 350 18.5 5 334 263 218 217 18~25 652 542 173.0
30 - 180MA FIG. 4 20 350 300 400 18.5 5 382 305 250 241 3141 710 600 189.5
- ;g 180MC  FIG.3 20 350 300 400 18.5 5 382 305 250 241 31~41 710 600 189.5
40 - 180LA FIG. 4 20 350 300 400 18.5 5 382 305 250 241 31~41 764 654 216.5
- 40 180LC FIG. 3 20 350 300 400 18.5 5 382 305 250 241 31~41 764 654 216.5
HER
HESIR . .
o [ o] [ o] o | aun | rans
160M 42 110 80 12 37.0 45.0 M16x32 63092z 630722
160L 42 110 80 12 37.0 450 M16x32 630972 630722
180MA 48 110 80 14 425 515 M16x32 63117ZC3 6310ZzC3
180MC 48 110 80 14 425 515 M16x32 63112z 63102z
180LA 55 110 80 16 49.0 59.0 M20x40  63122zC3 63102z2C3
180LC 55 110 80 16  49.0 59.0 M20x40 631277 63102z
NOTE
1. 8% D AZE : @42~48 1 k6, p55~65 : m6
2.5 B NREj6



RS & AEUF4E

U DIABZE - #mh (V1 IM 3011)
tE5% 200L~225S

-
)
LB

La
LD
T
==

Fig. 5 [EE67 : mm]

6 )

HESTR Bl AC HB | KK L LB | LD
2P
23 - 200LA 18.5 458 362 299 286.0 44~51 809.5 699.5 212.0
- Zg 200LC FIG.5 20 400 350 450 18.5 5 458 362 299 286.0 44~51 839.5 699.5 212.0
75 - 225SA 22 500 450 550 18.5 5 510 411 337 312.0 44~51 850.0 740.0 222.0
- 75 225SC 22 500 450 550 18.5 5 510 411 337 312.0 44~51 880.0 740.0 222.0

n

Lol e Tal o L aun [onn
200LA 49.0 59.0 M20X40  63127zC3 621277C3
200LC 60 140 110 18 53.0 64.0 M20X40 63147z 6212722
225SA 55 110 80 16 49.0 59.0 M20X40 63127ZC3 62127ZC3
225SC 65 140 110 18 58.0 69.0 M20X40 631572 621372

NOTE

1. 8% D A%Z : @55~65: m6

2.5|1BENRQE:j6

10



RS & AEUF4E

U DIABZE - #mh (V1 IM 3011)
&5k 250S~250M

Fig. 6 [EE17 : mm]
#ith (HP) L ommRy
Iﬂ IIIIIIII!II - e el I
- 250SA 18.5 545 499 384 329.5 6677 947.5 837.5 230.0
- 100 250SC . 22 500 450 550 18.5 5 545 499 384 329.5 66~77 977.5 837.5 230.0
125 -  250MA 22 500 450 550 185 5 545 499 384 3295 66~77 947.5 837.5 230.0
- 125 250MC 22 500 450 550 185 5 545 499 384 329.5 66~77 977.5 837.5 230.0

H
oL Tol e o] o | aen lone
250SA 49.0 59.0 M20X40 6313C3 6313C3
250SC 75 140 110 20  67.5 79.5 M20X40 NU316 6313
250MA 55 110 80 16 49.0 59.0 M20X40 6313C3 6313C3
250MC 75 140 110 20 67.5 79.5 M20X40 NU316 6313
NOTE
1 BI%E D A% : 55~75: m6
2.5 BENRQEj6

11



SO

B



TECO
SRITE

BhBE M EeE B

https://www.teco.com.tw/

E—TEREZEREN (CN)AEHF4E_20230407
=B VN B BEEE SIEHARE
1158itmEeRERA3-1531012 4076+ mAEEN) 6655318 825 HMmERERM=K3IE331E 1

Tel: (02)6615-9111 / Fax: (02)6615-0933  Tel: (04)2317-3919 / Fax: (04)2312-3057  Tel: (07)566-5259 / Fax: (07)566-5269



